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ReguaT R AT JTF ST Rysfareas o el

qd YAE® AErd S | (Answer all the questions.)

360 ST faamdiessr THEAT T80T & 100 T ATDE A Wl WA WA
QRISSA | 60 FATr febe @« WIT W9 WIESA 7 100 919 59 AT

T 9 AT RIEeAA |

In a survey of a group of 360 students, 100 students like basketball
game only, 60 like cricket game only and 100 do not like any of the two
ames.
(ga) afg '‘B'I'C' ¥ HHW: Ar<bead  fhhe €@ A7 WIS [qandigsa
g SANEeA W9 n(BUC) 1 W i g8 7 AeTer |
If 'B' and 'C' denote the set of students who like basketball and
cricket game respectively, then what is the value of n(BUC)?

Write it. (D
(b) i qeaeTg A e IRa e |

Present the above information in a venn-diagram. (1)
(c) T &« W9 WIS fqandiessr qgen Jar v msdery |

Find the number of students who like both the games. 3)

(d) afe G 9eF BR FEW TR FHA G GAHT T ANCH g
fordhe @9 99 URIT T ANT QUTEd GISAT A SITHT T3 @ HA
W& faendiesad! ag@n Fia gatadr ? 9ar aeqerd |
If everyone who is not interested in any game liked cricket game in
the second survey and found others to be same then, what would be

the number of students who like at least one game? Find it. (1)
A THET 2 quaT AT 10% TR 1o R %.10,000 FT9ET

fug T @fiy J9T 97 W 9F RT3 961 T XA aie 9@

TSI YTHETs Qr9er faug |
Rajan borrowed a loan of Rs.10,000 from Ram for 2 years at the rate of
10% simple interest. Immediately, Rajan lent the same sum for same
time and same rate of interest compounded annually to Shyam.
(a) FEUr TIIAR, 2 FUFT A=AH] g WIURY 4TS T Fehg A
AU FA 961 §75 7 eI | .
According to the given context, which interest is more among
simple interest and compound interest for 2 years? Write it. (1)
SHI
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(b) TS IHT FRIARAT 2 GUAT HiT FIEAT 9T ? TaAT ANMS TR |

How much' profit did Rajan get during the transaction of 2 years?

Find it. )
(c) - T TS IHT THA Aaiiies SR ToTeeHT ATadr feuar Wu 99

' i =TT AT & a9 7 gr anee |

How much more interest should Shyam need to pay. to Rajan if
Rajan had lent the amount at semi-annual compound interest? Find

it. (2)
& MEH FTHT TAGGET 20,000 & | IHR MEHT AGEF 2% FT A
SaSEn 9l gH

The population of a village is 20,000. The population increases by 2%
annually in the village.

© (a) U FEH FHELEm P, wmugen 3fgex R gfdad T T adufadr

If the initial population is P, growth rate is R per annum and
population after T years is Pt then write the formula to find Pr.(1)
(b) i adufey | MEH T 20,808 TE ? T AMS T |
After how many years the population of the village will be
20,808 ? Find it. (2)
(c) uﬁqﬁrm3%$rqumq&:ﬂ@?fwzadmmm
TSR FHA agE, ? Tl S ery |
If the population increases at the rate of 3% per annum, by what
number will the population of the village be increased in 2 years?
Find it. : (1)
a1 fafiaw RaER & e 1 aﬁﬁaﬁrmaﬁzﬁ%3 136.13
¥ fadiraR A.%. 137.25 Paar o
According to the currency exchange rate, the buying rate of
1 American dollar was NRs. 136.13 and selling rate was NRs. 137.25
in a certain day.

(a) T arf SR A et W ake < R WO

AT &5, 7 defeiq | :
Which rate buying or selling is used when you exchange American
dollar into Nepali rupees? Write it. (1)

(b)mﬁaﬁqﬂmlooowmmﬁmmm?w
AMSIY |

How many Nepali rupees can American tourist get by. exchanging
1000 dollars? Find it. ‘ (D

DHI
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(c)mmﬁﬁqﬂmﬁwm%molsnsowmm

YT AT Riepar Al TFHST ST FARST I qeal ™ TR !
I TSIy |

The American tourist spent NRs. 1,01,817.50 while staying in

Nepal, how many American dollars can he/she exchange from

remaining Nepalese rupees, while returning back to own country?
Find it. (2)

@ faudieesr TEd AUR e a@wErg 24 BeR T OITEr 9T
5 fEY WU 3T aiieR ATUR S RRIAS ATFRST & aATa |

A group of students constructed a square based pyramid shaped tent
having length of base side 24 meter and vertical height 5 meter.

(a) T IMR WeH Rrifrewr #ader BrimeR waees ge ?

(b)
(©)

ACHF FI&H  ael T el

SR B | | ZJmO 0 1 16m

|
How many triangular surfaces are there in the square based

pyramid? Write it. | . (1)
IHT WA FER AR AU TEhl S 913 Ial AMGary |
Find the slant height of the above square based tent. (D

PR adeeenr gfa @ e €.125 &1 RS HIST TGSl ST
Fia @9 aNE 7 I SRy |

What is the total cost of cloths required to make triangular
surfaces at the rate of Rs.125 per square metre? Find it. (2)

24m

In the given figure, wooden

cylinder and cone havmg

equal base are shown.

(a)

®)

(©)

AT A 9T S YA Ao |

Write the formula to find the volume of a cone. - )
TERUH TREEAT FElP! A q0T TSy |

Find the volume of the cone in the given objects. &)
feguar e fegqa@r 9ol TR EITHT, IHRT A FSH AT

T afehr g A9S 7 T SRR |
If given wooden cylinder is drilled out in the given conical shape,
what will be the volume of remaining wood in cylinder? Find it.  (2)

HHI
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wSer gaidar @rng 10 by, e 0.5 . T 991 2 P B Sw wEie
TATST 25 AP X 12 A X 8 A AU FeRE TANT RUE o |

W I T — VT A A A B

The length of a wall is 10 m, width is 0.5 m and height is 2 m. Bricks
of size 25 cm X 12 cm X 8 cm are _uscd to build the wall. Also, ;16 part
of the wall is occupied by the clay joints.

(a) T TG TS FaNET FeEE Aferor] ! Tl AT |
How many bricks are required to construct the wall? Find it. (3)
(b) RT 1000 T YT %.14,500 F WA G GE@IA IAGT AT ITH G
A TR |
Estimate the cost of bricks used in the wall at the rate of
Rs. 14500 per 1000 bricks. | (D

TS Yoish fad afeear femer st dreaR I d SET T T 7 femee
TS YEHHT T a9 TR | STHAER 999 Wiewr faA % 10, T
fet .20, ST R 3. 40 T8 7 3 feAe e AW W I@H TH T |
Ramesh deposits the amounit in a co-operative for 7 days by increasing
the amount every day double than the previous day. He deposited
Rs. 10 on the first day, Rs. 20 on the second day, Rs. 40 on the third
day and so on till the 7" day. | |

(a) WIS T=H ITAR AT RPN WEAATE a1 A FF TFRST T8 7

deterd |

What type of series is formed from the deposit amount according

to above context? Write it. (D
(b) 7 FETET ArAEEAT TN i (A W TS 7 @ TR A O

TMEE |

How much amount will Ramesh deposit by the end of 7 days?

Find it using formula. (2)

(c) afz YA 4 Feaern wrr U@ WA ufe o fa@ wg 7 e
AT I Bl THH ATH LS ? TaT i |
If Ramesh withdraws the amount deposited by 4 days, how much
will he receive at the.end of the 7" days? Find it. (2
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11. fezuar faawr AABC T ABCD U@¢ 3R BCX A
JET FUHTR @e® AD ¥ BC fa=r et & |
fag B =re @1 AC- W1 @+ BP fafear & |
In the given figure, AABC and ABCD are . / >
standing on same base BC and between same
parallel lines AD arid BC. From the point B,a B >
perpendicular BP is drawn to the line AC.

(a) Fegwar faawT ABAD &1 &FRadT avia) g o AW Jeieie |

(1)

RE - 1031'KoP

TG AMAHR  AAS A g @l C
e T 40 B a9 g T waar fawer @
MR 40 B 93 & b d
The longer side of a rectangular ficld is 40 m
more than the shorter side and its diagonal is J 0O
40 m more than its longer side. — ] —5
(a) wifydr g= FER wfHAar g (/)

=13 (b) T faeut (d) faerer v S |

Write the relation among the length (/), breadth (b) and diagonal

(d) of the field according to the above context. (1)

(b)

(c)

HAAATHR ATHTRT Gl SO T ATH TR a8 It s ery |
Find the length of the shorter 51dc and longer side of the
rectangular filed. (2)

SR AAAFPR AtHaAr 30 PR x 20 f. A9 afudaw wid e
ST Ehies TR T4 |ibra ! Il TS Terd |

How many maximum numbers of plots of size 30 m x 20 m can be
made from the rectangular filed? Find it. (2)

q+r r+p -

ar TP

(2) &R TR (Simplify): ”p’;" —ar T @)

(b)

& TR (Solve): 3¥ + 37 = 951,' | 3)

Write the name of triangle whose area is equal to area of ABAD in
the given figure. (D

(b) afk AC=9&fa. T BP =63 WWBCD?{’:’TWW

Wﬂ?ﬁ?ﬁ[ |
If AC =9 cm and BP = 6 cm, find the area of trigmgle BCD. (2)



12.

13.

(%) RE - 1031'KoP '

(c) fegusr Paawr PQRS uwser #weE  p >— Q
i@ & | et PQISR & | @d M T N
FA faFvigE PR T QS #1 wuifaps
&1 M AMSR = ANSR &3 "f7 gwfire
TR X
In the given figure, PQRS is a S - R
trapezium, where PQIISR. M and N are the mid points of the

+ diagonals PR and QS respectively. Prove that: AMSR = ANSR. (2)

Bw=t PQR T ZPQR =60, QR =8 &.fA. T PQ =6 #.FA. fazuam & |
In a triangle PQR, ZPQR = 60°, QR = 8 cm and PQ = 6 cm are given.
(a) WIRTET ANERE APQR &I TN TR T IH Prawa
ATEAT aRER gH T T3 (1A RITA F1 9f9 =41 T |
Construct a APQR according to above measurements and also
construct a rectangle RITA equal in area to the triangle. (3)
(b) THY TS PO T TS GG Rh ARTEY g8, ? PR e |

Why the areas of triangle and rectangle so formed are equal? Write

reason. (1)
fesuar guad Fwiag O § | IRy FvEE PAQTY A B
PBQ@%WPQmanmﬁaml

O is the centre of the given circle. Inscribed angles
PAQ and PBQ are standing on the same arc PQ.

(a)wﬁﬁrmPAQzPBQMW

AEE | P Q
Write the relation between the circumference
angles PAQ and PBQ. (1)

(b) T = HT POQ @ AT (12x + 4)° wﬁﬂ:m PAQ &I A9
(3x + 20)° B T x &I AT [APeare |
If the measures of central angle POQ is (12x + 4)° and the
measures of inscribed angle PAQ is (3x + 20)°, find the value of x.
(1
(c) TIE ATYHT IHST dwq HIv7 gfefr Fre =R g7 T TTER
Fag TR | (andeam 3 A Wﬂ'&tmﬁaﬁamw
a1
Verify experimentally that central angle is double of the inscribed
angle formed on same arc. (Two circles having radii more than 3
cm are necessary.) (2)

S HT
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14. st P oy AB #t 9918 4.5 T T e p
CD &I S=1% 4.5 e &7 | BC & &% T o7
fer=rar T 9198 |
In the given figure, height of the tower AB is | D
24.5 meter and height of a house CD is 4.5 meter. E
BC denotes the distance between tower and house.
-
(a) Swee Hrers qfonfr THER ) B fc
Define the angle of elevation. (1)
(b) AE 1 W9 9O @MSTard |
Find the value of AE. (1)
(c) dfz ZADE= 30°W*«rmzad’aﬂa?r§?rwwnmml

15.

If ZADE = 30° find the distance between the tower and the house.(1)

(d) AEX Ebmmmmﬂmwﬁrmmmaﬁ
&8 7 AT TR |
By how many degrees is the angle of elevation less or more when
AE and ED are equal? Compare it. (1N
75 QUITSHHT e Ueer g faamdiess o TR ASE aeen
aifaer fegTr &1
The marks obtained by the students in an exam of mathematics of 75 full
marks are given in the following table.
qrrg® (Obtained Marks) 0-15 |15- 30 30-45 {45-60 |60-75
fa=rdt I==ar (Number of students) 2 4 6 3
(a) mﬁmmﬂaﬁﬁvﬁmml
Illustrate the modal class from the above data. (1)
(b) wifger aifeerare Aftasr FHereiery |
Find the median from the above table. - ()
(c) wITgeT aifaeae A quT TSTer |
Find the mean from the above table. 2)
(d) @ gherar Feartt fandt agemer da Al w1 qE Ecn

i gfaera faadt @eq 7 Tar SR |
Among all the participants in the exam, what percentage of students
obtained marks below the model class? Find it. (N
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16. TSN AIAHAT 6 AT JaT T 10 ST F1AT I T IT Ide® o | g8 AT
qORE THUTS ABT T g @Y PRt 87
A box contains 6 white and 10 black balls of same shape and size. Two
balls are drawn at random one after another with replacement.

(a)

(b)
()
(d)

g A T B TEaMer s weAeE A¢ araerars e e
| .

If A and B are two independent events, write the multiplication law
of probability. (N
T FrNfaa IRUTHESS! IEATATaTs gefaaHr TEree |

Show the probability of all the possible outcomes in a tree diagram. (2)

g9 a9 el G I ARHTEIAT ST TSR | |
Find the probability of getting both balls of same color. (1)
T T B (ST I JEATEAT, §9 I AT TSH I Gearear 9w

Hiq FH AT qe § 7 T Ao |
By how much the the probability of getting both balls of different

color is less or more than probability of getting both balls of white
color? Find it. (1)

-0-



